Math201.01, Quiz #2, Term 163
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1. [4 points] Find an equation for the plane containing the point
P(3,5,—4) and the line x=4—-t, y=-1+4+2t, z=-3¢t, t€
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2. [4 points] Give the name, vertex, axis, and sketch the graph of the
equation x% 4+ 3y? — 12y —z + 13 = 0.
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3. [3 points] Find the limit: _ lim %%
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4. [4 points] Let z=tan"'(x* +y?), x =rint, y = te*". Find E
when (r,t) = (1,1).
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Math201.02, Quiz #2, Term 163

Name:

ID #: Serial #:

1. [4 points] Give the name, vertex(ces), axis, and sketch the graph of
the equation z2 — 2 = x% + 2y?% — 2x.
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2. [4 points] Find and sketch the domain of f (x,y) = 112_9;)2-
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3. [3 points] Find the limit:  lim X222
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4. [4 points] Let z = tan™?!
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